Haryana Jobs https://haryanajobs.in  dkmalik@haryanajobs.in

Haryana Staff Selection Commission
Post :- Junior Engineer ( Horticulture )
Evening Session Advt No 7/2017 Cat No 29.

1. Okra belongs to which family ?
(1) Solanaceae (2) Malvaceae
(3) Euphorbiaceae (4) Polygonaceae
7 o afam T wefaa g 2
(1)  =reteeT (2)  HATeAET
(3) TR (4) =TT

2. is a type of garden which produces special crops in relatively large quantities for
distant markets.
(1)  Floating vegetable garden (2)  Kitchen gardening
(3) Market gardening (4)  Truck gardening
_ UF 9 FT S g S gL AT o (T sToeAThd SS9 # A9 et S 2
(1) AT gl 3= (2) =" anEET
(3) ST AWTATHT (4) =& FETETH

3. Early maturing of many vegetables is resulted by
(1) High soil pH (2)  Poor aeration
(3) Deficient soil moisture (4)  Soil temperature
T Aot T STeal TahdT T 0T H grar 872
(1) g 9=TpH (2) FHAT
(3)  H&T T H wHT (4) HETAHEE

4. Marsh spot in pea is due to
(1)  Cu deficiency (2)  Mn deficiency
(3) Fe deficiency (4) B deficiency
He | gl et #91 grar g ?
(1) Cu=sft (2) Mn=FH
(3) Few st (4) B

5. Post harvest loss of vegetables is about
(1) 40% (2) 35%
(3) 10% (4) 20%
TieSTaT T FEA & dTE T T FF hadT grar g ?
(1) 40% (2) 35%
(3) 10% (4) 20%

6. Gas used for refrigeration is
(1)  Nitrogen oxide (2)  Carbon dioxide
(3) Ammonia (4)  Sulphur dioxide
wefta & forw o e =1 e fepar saT € 2
(1) FATeEee SFaTEe (2) e TS

(3) erwIfAET (4) G TTEAFETEE
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7. ‘Kufri Swarna’ is a variety of which of the following crops for resistant to golden nematode ?
(1) Onion (2) Banana
(3) Turmeric (4) Potato
Forertfore & Forer T i A T P 3 S AR A AT e 2
(1) T (2) FaT
(3) == (4) g
8. Pusa kanchan variety of turnip is selected from a cross of
(1) Local Meeruti and American Early Dwarf (2)  Local Red Round and Golden Ball
(3) Local Red and Nates Half Long (4) Golden Ball and Local Red
QIASTH o THT dae e &1 =39 FERH T ITET e |
(1) =TT 93T Ud FATGhT e arae (2) AT AT AT ST gt ared
(3)  TATTIT AT ST T FaT TEoT (4) AL I ST ST AT
9. Which crop is propagated through corms and cormels ?
(1) Gaillardia (2)  Phlox
(3) Gladiolus (4) Verbena
TG 3T AAHEh! h GIT DI T FEA TATHT greft § 2
(1)  defEar (2) A
(3) wfedow (4) FLaeT
10. Fruit type of Mango:
(1) Drupe/Stone (2)  Berry
(3) Capsule (4) Pome
a T T FTFAG ?
(1) wefiy/erfeea (2) =4
(3)  rorhr @)
11. Which fruit crop's edible part is known as juicy placental hairs ?
(1) amun (2)  Strawberry
(3) Citrus (4) Fig
T et AT B T QT 9T TR SSSTEAT I aTaT gram g ?
(1) S (2) =&
(3)  fwgaer () 4) sfie
12. Which of the following is a climacteric fruit ?
(1) Grape (2) Ber
(3) Pineapple (4) Fig
Aeifd § & &I 97 FATHF < B © ?
(1) =@ (2 =
(3) ewTH (4) T
13. Die back and gummosis of citrus are observed due to the deficiency of which nutrient from the

following ?
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(1) Boron (2) Copper

(3) Molybdenum (4) Zinc

frifera ® & o aroes it et | e aer & 997 o 3T Mrarh gterd & a8 ?
(1) &= (2) dafar

(3) wichesaw 4) =

Which of the following fruit crop is known as Butter fruit ?

(1) Arecanut (2) Avocado

(3) Cocoa (4) Coconut

iR & & o et T 8t ol Fa=1d e gd & 2

(1) T (2) AR

(3) =T (4) aTREer

Production of off-season vegetables is known as

(1) Vegetable forcing (2)  Early vegetables

(3) Late vegetables (4) Vegetable imposing
THTEHT FiooTAT T ICATET FAT FgATdT & ?

(1) afSeae wrET (2)  oreft AfSTEaer

(3) @ AfSEae (4)  afSreae zefEm
Pungency in garlic is due to

(1)  Allyl propyl disulphide (2)  Glucosilates

(3) Diallyl disulphide (4)  Oleoresin

g | drar foas FRor grar g ?

(1) ufee S STeaewEe (2) TIHIREE

(3) =Teufore STEHCwTEE (4)  enfersmefoe

Which of the following commercial propagation methods is used for date palm ?
(1)  Suckers/slips (2)  Sword suckers

(3) Stooling (4)  Offshoot/sucker
Arifena & & F1 = SATIETE Taeq TG T STIRT G F o fFhar srar g 2
(1) s/ ey (2)  |ET (FATS) ST EATE
(3) =l (4)  weTET/HT T

Dr. B.P. Pal and Priyadarshani are varieties of which of the following ornamental crop ?
(1) Gladiolus (2)  Rose

(3) Chinarose (4)  Marigold

= A A a1 3w Freert Fitera # & fohe astrady s 6 s 8 2

(1) R () T

(3) =EARS (4) =T

Which state having maximum production under floriculture in India ?

(1)  Karnataka (2)

Kerala


https://haryanajobs.in
mailto:dkmalik@haryanajobs.in

Haryana Jobs https://haryanajobs.in  dkmalik@haryanajobs.in

20.

21.

22,

23.

24.

25.

(3) Tamil Nadu (4)  West Bengal
AT & T T | o0 F0 % T8 999 T8 ITaT grar g ?
(1) FATe® (2) w
(3) dfHemTE (4)  afe=sw s
Which planting system enabling maximum number of plants in the orchards ?
(1) Hexagonal (2)  Rectangular system
(3) Triangular system (4)  Counour system
e TTT YOTTeAT ® AT | el 7 STfersha e Seq1 gt 8 ?
(1)  wesmf (2)  SATIATHTT TOTTAT
(3)  TreRrofre yorreft (4)  ET wOTTeAT
Most of Cultivated edible banana’s ploidy level is :
(1) Diploid (2) Haploid
(3) Tetraploid (4)  Triploid
SATEHTI FF WA HeAT TATAT TAL FAT § 2
(1) fauior (2) e
(3) =i 4) Fabe
Citrus aurantifolia is the scientific name of
(1) Mandarin (2) Kagzilime
(3) Sweet Orange (4) Lemon
T AT AT fFrew sfeifenrerr 81
(1) #efe 2) e g
(3) wewd (4) g

What is the causal organism of nodal blight in pomegranate ?
(1) Xanthomonas axonopodis spv.punicae  (2)  Fusarium oxysporium p.v. cubensis

(3)  Fusarium oxysporium p.v. Psidii (4)  Xanthomonas compestris p.v. citri
AT | Ut ==Y TR SHa wA a7 8 ?

(1) ST U spy. ST (2) LIRS AR p.v. FEA
(3) wErEw atFaIaw p.v. et (4)  SEITHETE HiFTeed p.v. FEr
Which type of parthenocarpy found in Black Corianth variety of Grape ?

(1)  Stimulative (2)  Vegetative

(3) Sternospermocarpy (4) Artificial

I T sAe AU fohem ® oh g 7 A9 wae 917 S[rar g ?

(1) = (2) amEafta®

(3) EeATETHTHTT 4) Fw

Baradari is an important feature of which garden?

(1) Mughal (2)  French

(3) English (4) Chinese

IR o 2T T Aga ol faarwar g ?
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26.

27.

28.

29.

30.

31.

(1) (2

(3) &R (4) =
Rashtrapati Bhavan garden at New Delhi was laid out by

(1)  Sir Edwin Lutyens (2)  Lord Curzon

(3) Shahjahan (4) Lady Hardinge

T2 feeht Rorg Trguta swa= 3= &7 srfvrsrens forae foram o 2

(1) wxusfaw geas (2) =< FoAe

(3)  omesret (4) wfaiEw
Carnation is classified as plant.

(1) Short Day (2) Long Day

(3) Day Neutral (4)  None of these
I T 9T F T F Ffiehd RAT ATaT E |

(1)  oroT FfaeeTet (2) =T yfeaHTeLr

(3) feaw fAeder (4) TAH A EE TE
Delonixregia is commonly known as

(1) Red Gulmohar (2)  Yellow Gulmohar
(3) Gulmohar (4)  Varigated Gulmohar
TATFTLISTAT T STHATL T FAT Fgd & 2

(1) e e (2) e ertET

(3)  TerHTRY @)  aEfr TR
Which of the following is very common cut flower, loose flower or pot plant in short days?
(1) Rose (2)  Tuberose

(3) Jasmine (4)  Chrysanthemum
oo TiaweTe § it § ¥ Fq B, 99 |l AT THA ATAT GT&T Al G978 2
(1) T (2) F=TEE

(3) =weT (4) TARTSE

Shrub when planted at regular interval to form a thick screen is known as
(1) Edge (2) Hedge

(3)  Shrubbery (4) Fence

AT e 9% FETT ST ATAT ATTEAT T FIT Fgd @ STae qiel e o+ ATl 8 ?
(1) =T (2) @t

(3) ==&y (4) %=

Which of the following is used as climber, shrub or pot plant ?

(1)  Silver oak (2)  Bougainvillea

(3) Begonia (4) Beloperone
it § & foerent START A1, ATST AT THA 6 0Tl F T | A7 a8 ?

(1) Freazss (2) anEEteET

(3) amrf=aT (4) IO
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32,

33.

34.

35.

36.

37.

Gerbera is propagated through

(1)  Cuttings (2) Corms
(3) Division of clumps (4)  Tubers
LT T fohEh g7 yadq grar g ?
(1) =ew (2) =
(3) =i T AT (4) =
Running water is the life of the gardens.
(1) Japanese (2)  Mughal
(3) BothJapanese and Mughal (4)  None of these
FEAT ITHT IATHT T Sa 2 |
(1) ST (2) wm
(3)  SITATHY 7 AT EIAY (4) TAH AL AL
Yellow plastic mulch repels
(1)  Aphid (2)  Leaf Hopper
(3) White fly (4)  Jasid
AT AT Foe T IITAT & |
(1) Tfee 2) frmgw
(3) eaameft 4) =
Whiptail results from the deficiency of
(1) Manganese (2) Molybdenum
(3)  Sulphur (4) Boron
T FHT F feguea grar g |
(1) & (2) wicfiesaHw
(3) #Ho=X (4) =

is one of the important bonsai style in which plant grows upright and then abruptly
turns downwards.

(1) Raftstyle (2)  Clump style
(3) Semi-cascade style (4) Cascade style
, ATAATE AAT H & T Fgeaqur e, Sas o e 9z g o 6 sr=mee = 67 &7 42 a
gl
(1) T gt (2)  =Fereq eft
(3)  SATHTATHT AT (4) AT AAT

Which is the most important operation which should be done regularly to maintain the lawn in
good form ?

(1) Mowing (2) Weeding
(3) Manuaring and fertilization (4)  Rolling
g FATTES Hgeaqul FT14 FId A7 g el A1 & 7=t grard | @ & forw Fafag e sy = 2
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(1) o 2) fae
(3) @TE =TT SI¥ 39T (4) ST
38. Being a , India has the climate to nurture plants all the year round.
(1)  Sub-tropical country (2)  Tropical country
(3) Temperate country (4)  Deciduous country
B9 % HTLOT, T § 92 FW el o Toorerd STaaryg gl & |
(1) oo F9r (2)  SourRfeaef Tor
(3)  efraroor Tor (4)  ooTaTeY Ter
39. Choose the very useful handy tool for pruning both herbaceous and woody stems of moderate
thickness.
(1) Garden knife (2)  Pruner
(3) Secateur (4)  Scissor
HETH HISTS % ATHT ST FTGHT T AT ol Hie-Bie & (oI AT STTRT AT ITHOT DT a7 8 ?
(1) e TR (2) T
(3) = (4) =
40. Which one is commercially most suitable climber for porches ?
(1) Clerodendrum thomsonae (2)  Allamanda cathartica
(3) Clerodendrum splendens (4)  Quisqualis indica
T (FTEHEY) & oI SAaETias &7 § gaiiesd U adT Hid €1 g 2
(1) eSS H THEET (2)  UATHFET FATEHT
(3) TS SH TIreH (4) TomaTlom SR
41. What is the first task of any landscape architect’s ?
(1)  Site analysis (2)  Site identification
(3) Designing site (4)  Planning for development
feReT o7 Sp AT AT 7 TET FE FATEATE ?
(1) =t fAresroor (2)  wet et
(3) EwfesTeA (4) T * forw srarete
42. are known as Wandering Jews.
(1)  Schefflera (2)  Tillandsia
(3) Zebrina (4)  Tradescantia
T IaH SIS Fgd & |
(1) e (2) feorefmT
(3)  SaTEAT (4)  EERterm
43. Which of the following is also known as cat’s tail ?
(1) Acalypha hispida (2)  Acalypha wilkesiana ‘Brownii’

(3) Allamanda nerifolia (4)  Allamanda schottii
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44.

45.

46.

47.

48.

49.

50.

it & & e Feg oo T Fgd 2 2

(1) UwreTeE RfRTeT (2) TS (R TR T
(3) UaATHET AT (4)  UATHwET THIET
Series of arches joined together is called as

(1)  Arbour (2) Edge

(3) Hedge (4)  Pergola
FILOT T G@AT Hl THATH SISAT FIT FgATdT g ?

(1) = (2 =X

(3) =t (4) Hzar

Public parks are considered as of cities.

(1) Heart (2) Eyes

(3) Lungs (4) Mind

TSI A IATHT T ML FT FEdg |

(1) === (2) wid

(3) ww= 4) #H7

Which of the following trees produces yellow flowers ?

(1) Colvillea racemosa (2)  Peltophorum pterocarpum
(3) Cassia nodosa (4)  Jacranda mimosaefolia
FIe |7 9T e B a1 g 2

(1)  FretateT e (2) UTEIERIRH STEHTIH
(3) wFEETATEMET (4)  SrwreT HETETRICET
Staking and pinching are important operations in

(1) Tuberose (2)  Chrysanthemum
(3) Gerbera (4) Rose

TFae T S Sgad gg<aqu #1d § ?

(1) e (2) TerETSEr

(3) e 4) T

FPO (Food Product Order) was passed by Government of India in

(1) 1855 (2) 1965

(3) 1865 (4) 1955

T LR gTT FPO (| 3UTg 3= H gria o o)
(1) 1855 (2) 1965

(3) 1865 (4) 1955

Vinegar concentration in preservative should not exceed than

(1) 4% 2) 2%

(3) 1.5% (4) 1%

afewerl # foeT "igar ¥ o7fa TEi gl AT u |

(1) 4% 2) 2%

(3) 15% (4) 1%

Zero energy cool chamber was developed by

(1) S.K.Gupta (2) Needham

(3) S.K.Roy (4)  Nicolas Appert

et o7 STt SN e T fashrer foar e o2
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51.

52.

53.

54.

5S.

56.

(1) " F A (2)  rew

(3) wEF T (4) FFEemTTe
In which city of Haryana, the Railway Heritage Museum is situated ?
(1)  Kurukshetra (2)  Rewari

(3) Panipat (4)  Sonipat
AT % e ereT # YAe giies Sy 87

(1) Fwe (2) TaETEr

(3) urUa (4) arua

In which text the name of Kurukshetra is referred as "Harishetra" ?
(1) Vayu-puran (2)  Garud-puran
(3)  Shiv-puran (4)  Skanda-puran
FEAT FTATH GRAT FFE AT T2

(1) = (2) =T

(3) T (4) TR

What were the effects of Sachar formula ?

(1) Punjab was divided in three parts Punjabi areas, Hindi areas & Urdu region
(2)  Punjab was divided into Punjabi areas and Hindi region in two parts

(3)  Punjab was divided into Punjabi areas & Urdu region in two parts

(4) None of these

YT RIGAT TR 2T T FAT TATS GaAT?

(1) < i oo e, 4T & ofe 98 e U i et # afe fear
(2)  viSITa A AT & o T g v ar Rt # ate faar mm

(3)  ISITa T AT & #f¥ 3% &4 U AT et # ate e mm

(4) =H H A AL

Who is the President of the Haryana Governance Reform Authority ?

(1)  Dr. Sunil Verma (2)  Dr.Pramod Kumar

(3) Dr. Ajay Sharma (4)  None of these

ERAToT sraetE R st T sreer w22

(1) =t g Fat (2) =t yHREFIAR

(3) =t ety et @) =EEFFETE

Whom of the following sports-person of Haryana is basketball player ?

(1)  Ajmer Singh (2) Suman Bala

(3) Saina Nehwal (4)  Satyaveer Singh

5 5 & gRAToT 7 F19 |97 TSt areheatd ¥ qafaq g ?

(1) sz fEE (2) ATt

(3)  HTEAT AEATH (4) TR

Which of the following pair is incorrect ?

(1)  Sara Gurpal - Modelling (2)  Tulika Ganguly - Indian Idol
(3) Rupinder Handa - Producer (4)  Rao Inderjit Singh - Politician
forer & 77 &7 STT=T T} AT AT 27

(1) &7 T - wiefenT (2) AT AT - 0T A

(3) wfdezerer- fAaiar (4) T TeETSta fig - s
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57. Sandeep Singh is associated with

(1)  Cricket (2)  Wrestling
(3) Hockey (4) Volleyball
Ty ffig e g & grafera g2
(1) fFre (2) et
(3) = (4) At
58. During which month Surajkund crafts fair is held ?
(1) January (2)  February
(3) March (4)  April
IS FHTFE HAT (o TTg | ST gram g2
(1) Sl 2) wEh
3) =@ @) =
59. During April-May Shah Chokha Khori Mela is held in the district of
(1)  Kurukshetra (2)  Panipat
(3) Gurgaon (4)  None of these
AU AT o A 9Tg A@T @RI HAT o6 Forer 7 SrifSia grar 872
(1) F=e (2) 9Ha
(3) T=wma @)  =AH T AE
60. Where is Asigarh Fort located in Haryana ?
(1) Barwala (2)  Narnaul
(3) Hansi Town (4) Agroha
g # srEfrTe e et frora 82
(1) & (2)  ATEA
(3) @il e (4)  swTET
61. Haryana state was formed on 1 November, 1966 on recommendation of Parliamentary
Committee headed by :
(1)  Lal Bahadur Shastri (2)  Indira Gandhi
(3) Sardar Hukam Singh (4)  Sir Chottu Ram
AT 7757 7 AT | FEFER, 1966 1 AH 6T STeTeqqr arett SO AT S ST I I AT
(1) Tl 9gTeL ot (2) Eferdt
(3) =T EEn fHe 4) "I
62. First CNG DEMU train was started between which two stations in Haryana State ?
(1)  Jhajjar to Rewari (2)  Rohtak to Rewari
(3) Rohtak to Chandigarh (4) Chandigarh to Hisar
Tt € U S S o gt TS H R 7 SoET o 7y FeTs 15?2
(1) =Z=EIEE (2) TgdE FETET
(3) YrEa® ¥ ATENE (4) =TI g RER

63. ‘Beti ka Salam Rashtra ke Naam’ scheme is associated with
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64.

65.

66.

67.

68.

69.

(1) Essay competition (2)  Sports competition
(3) Flag-hoisting (4)  None of these

T T HATH Y o ATH TTSTAT TFIET &

(1) Fevg sfonRara (2) @« wiaAREar &

(3) eaSRETH (4) TAHFEE TE
Resident of Bhiwani, famous literator Tulsi Das Sharma ‘Dinesh’ wrote the following :
(1) Satsai (2)  Bhakta Bharati

(3) Satyagrahi Prahlad (4)  All of these

et et witg arfecrs qerdtem oHt i f Ffa g

(1) Faas (2) 9 AT

(3) TATILT TeTR 4) Tasfr

The images of Sun God are discovered from which of the following places of Haryana ?
(1) Hansi (2) Tosam

(3) Beri (4)  All of these

T Faqr & AT ghamom & AeAtated § & $iF F 1 & s 1% 8 ?

(1) (2) drEm

(3) (4) FEad

Gyanodaya was newspaper published from Hisar.

(1) Weekly (2)  Daily

(3) Monthly (4)  None of these
AT THTATCI 9T, ST R & THTiera grar o |

(1) =T 2) i

(3) =l (4) =IH T TS
Ministry of Raj Bhawan's Affairs of Govt. of Haryana is allotted to

(1) Manoharlal Khattar (2)  Ram Bilas Sharma
(3) O.P.Dhankar (4) Capt. Abhimanyu
FATOT ALY | TST9aT WA H7 JATAT fordr |97 T37 52

(1) ¥R @ge (2) T awt

(3) &rdT gawE (4)  Fred Afmeg
Navodaya Vidyalaya is not situated at which of the following places in Haryana ?
(1)  Titram (Kaithal) (2)  Odhan (Sirsa)

(3) Devrala (Bhiwani) (4)  Akbarpur (Ambala)
g # fMeferfea § & e v ow FereT Remea Raa a2t g 2

(1) fe=aw (o) (2) s ()

(3)  ==wTE (foar) (4) AFEATIT (STFETAT

According to the Legend, the Pandavas had built a temple in the honour of Jayanti Devi at which
place in the Haryana State ?

(1) Karnal (2)  Rohtak

(3) Jind (4)  None of these
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70.

71.

72.

73.

74.

75.

Traaedt & ST, TTUSET 7 gRATUT 5T & Fohe ©I9 9% Swdt <41 % 97T | Hivay F7 ARt #xarar
a7 ?

(1) Fam= (2) EEw

(3) fi= (4)  =TAHH AL L

Which Pilgrimage of the following is situated between Haryana and Rajasthan ?
(1) Chandrakoop (2)  Dhosi Hill

(3) Aditi Temple (4)  None of these

AT SiF TS & &= Fetarted § & &1 97 qrefeas faq g2

(1) =g (2) e RTE

(3) sffysfx (4) =IH T TS

One of the 51 Shaktipiths, the Bhadrakaali Pith is located in

(1) Gurgaon (2)  Kurukshetra

(3) Baghaut (4)  Pundari

THFATA ARFAST & & U Faawreit 1 Fgf faa g 2

(1) T== (2) FwE

(3)  arET @)  TuEh

Recently Haryana Government decided to give unusual Gift of to the Gold and Bronze
Medal winners in the World Youth Women Boxing Championship.

(1) Desi Cow (2)  Tractor

(3) Flat (4)  None of these

1 2t 9 iAo g 7 e gar wfger qaarst Sttea=iag § sl i wier g7 @St 1 F ar
FHTHTT I & 71 i fera 82

(1) == (2) TFX

(3) e (4)  =TAHH AL T
Haryana Government announced lifetime pension for Hindi Satyagrahis of
(1) " 7,000 (2) 10,000

(3) 79,000 (4)  None of these

g gw 7 B aemufeat & forg sfrae wiq fraet e it = & 82
(1) " 7,000 (2) " 10,000

(3) 9,000 (4)  TAHFFE AL
Which district of Haryana does not share its boundary with Uttar Pradesh ?
(1) Karnal (2)  Sonipat

(3) Faridabad (4)  Rohtak

AT T I AT AT 3T T390 % AT {01 AT ATAT Al FeaT?

(1) =T (2) @A

(8) i @) T

Who is known as Grand Old lady of Indian Independence Movement ?

(1)  Mother Teressa (2)  Amrit Kaur

(3)  Putli Bai (4)  Aruna Asaf Ali

ATCA T TIAAAT SR i TS Aog At 7 igr 17 82
(1) wezaET (2) FgIFR
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76.

77.

78.

79.

80.

(3) AT aTE (4)  STEUT AEE AT
Celsius and Fahrenheit show the same temperature at

(1) 30degree (2) 40 degree

(3) 50 degree (4) 60 degree
HfcaTe 3T weele g It 9% U & arae g9 & 2

(1) 30fM (2) 40T

(3) sofedt (4) 60 feft

Which country hosted the 2017 Asia-Pacific Economic Co-operation (APEC) Summit ?
(1) India (2)  China

(3)  Srilanka (4) Vietnam

A | 29T 2017 Tl ata s snfds aganT (APEC) fora avqe it Fstart it ?
(1) wra () ==

(3)  =ficrr 4) fIaam

The partition of Bengal was announced on

(1) 7 July, 1905 (2) 7 August, 1905
(3) 7 May, 1905 (4) 7 January, 1905
ERIEEIRERIEEEE R ECRER IR DI

(1) 7 =mE, 1905 (2) 7 3mTEd, 1905
(3) 77,1905 (4) 7 SHasr, 1905
The World Pneumonia day is observed on

(1) 15 December (2) 12 November
(3) 8May (4) 2 February
rom e faew Fa qamaT STaT 8 2

(1) 15 fRE=T () 127FE%

(3) 8= (4)  2wELr
Arrange the given words in the meaningful sequence :

1. Accident

2. Hospital

3. Recovery

4, Surgery

5. Ambulance

(1) 25431 (2) 15243

(3) 13425 (4) 15234

3w T ereat AT et SR § AR Y

> s

3 fewad

4 LR

5. UEAAE

(1) 25431 (2) 15243
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(3) 13425 (4) 15234
81. X, 28,56, 112, 224 is a series, then x=7?

(1) 16 (2) 12

(3) 13 (4) 14

X, 28, 56, 112, 224 TH FofT FH E, AT x = ?

(1) 16 2) 12

(3) 13 (4) 14

82. WILB : VIKA: : VINZ : ?
Choose the same relationship.

(1)  uUMIy (2)  UNHY
(3)  ZGHY (4) UMY
WILB : VIKA : : VINZ : ?
TUTT Fae FT 39 HIOT |
(1)  umIy (2)  UNHY
(3)  ZGHY (4) UMY
83. Introducing Sunil, Shivani said, "He is the father of the only son of my daughter." How Sunil is
related to Shivani ?
(1) Son-in-law (2) Wife
(3) Daughter (4)  Mother
AT T TR=T F U AT 7 gl 'qg J 98T o THAT T A7 997 2 | AT (et & 59 gafed §
?
(1) =™ (2) T
3) @ (4) =t

84. A can do a certain job in 12 days. B is 60% more efficient than A. The number of days, it takes B
to do the same piece of work, is
(1) 6 (six) days (2) 9 (nine) days
(3) 71/2 (Seven and half) days (4) 8 (eight) days
A Treft fAfoma & 7 12 ool § U F aar & | B, A & @1 § 60% e 327 8 | et 6t s s
e B ST HTF FT T FT qHAT 5, g

(1) 6 (=@ fa (2) 9 () fa
(3)  71/2 (w2 @ma) fam (4) 8@m =
85. One year ago the ratio between Samir and Ashok's age was 4 : 3. One year hence the ratio of
their age will be 5 : 4. What is the sum of their present ages in years ?
(1) 12 years (2) 15 years
(3) 16 years (4) Cannot be determined
TF a9 Td THIT 3T LT 1 ST AT AT 4 - 3 AT | TF F | FY I18 Fg AT 5 © 4 BT SATUIAT | 3T
FATTT IH T TN T H FT 2
(1) 12a9 (2) 159
(3) 16aw (4) Tetha a2t BT s aear

86. Find the least number which, when divided by 72, 80 and 88, leaves the remainders 52, 60 and
68 respectively.
(1) 7200 (2) 7900


https://haryanajobs.in
mailto:dkmalik@haryanajobs.in

Haryana Jobs https://haryanajobs.in  dkmalik@haryanajobs.in

87.

88.

89.

90.

91.

92.

93.

(3) 8200 (4) 9200
T T & Gt HeAT wre Hifore 5 72, 80 T 88 # fFAranlSra Fee 9% Aw wHar 52, 60 37 68 AT Y |
(1) 7200 (2) 7900
(3) 8200 (4) 9200

If n and p are both odd numbers, then which of the following numbers must be an even
number ?

(1) n+p+1 (2) np

(3) 2n+p (4 n+p

T3 n 7 p T BFUH G0 g, a1 5 & 7 FIF | FedT 987 Ge@qT gl ?
(1) n+p+1 (2) np

(3) 2n+p (4) n+p

When iron is exposed to air, it is

(1) oxidised (2) decomposed
(3) displaced (4) reduced

ST AT HT gaT H GAT BIST SATqT & af T8

(1) reRfiga grar e | (2) fEfeggmETe)
(3) fEafTgm@Te! (4) wmEETEETE|
Action of pepsin requires a medium which is

(1) alkaline (2)  acidic

(3) neutral (4) none of these
gftes &t forar o forg Areas & saesear g s gl

(1) amm= (2) e

(3)  S=TEN (4) =AH AL T
The colour of an object depends upon the light which it

(1) reflects (2)  absorbs

(3) transmits (4)  refracts

FoReT aeq &1 37 39 wahr X AT wear g Sa A

(1) wEfddFarsg | (2) wEenfUg FaT e |
(3) wETR@FTATE | (4) afdaFEarg|

Supply suitable article in the following blank if needed :
Shatabdi Express is very fast.

(1) A (2)  An

(3) The (4) No article

Supply suitable preposition in the following blank :

There is no use going there.
(1) about (2) to
(3) off (4) of

Give one word substitute for the following expression :
is a closed political meeting.
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(1) Caucus (2)  Clique
(3) Constellation (4) Caravan
94. Select the word from the following that is most similar in meaning to the word in capital letters:
KINDLE
(1) Satisfy (2) Putout
(3) Satiate (4) Ignite
95. Select the word from the following that is opposite in meaning to the word in capital letters:
PACIFY
(1) Quench (2)  Lull
(3) Inflame (4)  Allay

96. ‘STOAT Ioe] HTLT FIAT HITAL FT AT &

(1) Seg @i (2)  FH T HA ARMET

(3) = faefeT (4) ST e T
97. 'faselt T qATHATAT B

(1) T (2) Rame

(3) == (4) =
98. ¥ ® | FIF AT 55 THE FT 3220 A5l 87

(1)  «TasTe (2)  HTIqUx

(3) zafEew (4) TEa

99. T IE T UGH TR, FE GATH T3F TR § AAF 5
(1) 9T AL (2) AT AFFIT
(3) TIF AGHT (4) ST AAFTT

100. FuFIFmasfradaadrg?
(1) =T (2) =
(3) e<fr (4)  rETioTE
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